Integer division up to 12
21) 24 +6

22) 55+ 11

23) 50 = 10

20) 99 + 11



Integer division up to 12
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Integer division up to 12
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Integer division up to 12
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127) 50 =5

148) 99 + 9

128) 77 + 11

149) 60 + 10

150) 44 =4 =

151) 56 = 8 =

152) 16 = 4

132) 54 =6

153) 77+ 11

154) 12+ 4

133) 0+ 7=

134) 100 + 10

155) 0+ 3

135) 27+9=

156) 110 = 10

157) 35+ 5

136) 8 +4 =

137) 16 =8

158) 355

138) 0+ 2

159) 12 =2

139) 14+7=

160) 24 = 2

140) 12+ 2



Integer division up to 12
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Integer division up to 12

221) 0= 10

201) 50 + 10

222) 50+ 5

202) 11 +11

223) 84 + 12

224) 12 +4

203) 28 +4 =

204) 88+ 11

225) 56+ 8 =

205) 22+ 2

226) 54+ 6

206) 16 + 4

227) 81+9

207) 24 =4 =

228) 9+ 3

208) 2+ 1

229) 56 = 8

209) 8+ 1

230) 36 <+ 12
231) 49 =7

210) 20 =4

211) 64 =38

232) 110 + 11
233) 54+ 6

212) 90+ 9

213) 12+ 4

234) 27+ 9 =

214) 132+ 12
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Integer division up to 12
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280) 18 =9

260) 21+ 7



Integer division up to 12

121 + 11

108 +9 =

5o + 11 =
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44 =11

315) 77+ 11

108 + 12

84 +12
0
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316
1

318) 96 = 12

319) 90 + 10



Integer division up to 12

341) 36 +4 =
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Integer division up to 12

381) 6+ 2

382) 50 + 10

100 = 10
80 =+ 10

400) 27+ 3

380) 30 =5
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Integer division up to 12

421) 36+ 3

401) 60 = 10

1422) 72+ 6

402) 100 = 10

403) 72 =8

423) 70 +7

424) 132 =11

425) 25+5

404) 120 = 10

405) 80 =8 =

426) 18 = 2

406) 63 =7

427) 54+ 9

407) 8+ 8=

428) 33+3

408) 36 = 12

429) 48 =+ 12

430) 50 =5

409) 56 =8

410) 60 =6

431) 60 =6

411) 62

432) 8+ 2=

412) 20+ 5
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438) 121 =11

439) 16 =4

418) 14 + 2

419) 66 = 11

440) 70 +7

420) 12 +2

11



Integer division up to 12
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480) 35 =7

460) 36 = 4
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Integer division up to 12

481) 32 =8

482) 62
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486) 45+9

A87) 22+ 2 =

488) 24+ 2 =

509) 0= 1

489) T+1=

510) 14 + 2

490) 42+ 6

511) 80 = 10

491) 99 = 11

512) 99 + 11

513) 54 + 6

492) 99 + 9

493) 0+8 =

514) 6+ 3 =

494) 132 =+ 11
495) 32+ 8

515) 28 =7

516) 36 =3

496) 110 + 11

517) 42+6

497) 77+ 11

518) 18 =2

498) 25+ 5 =

519) 70 =10

499) 30 =10

520) 24+ 6 =

500) 8 =4 =
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Integer division up to 12
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Integer division up to 12
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Integer division up to 12
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Integer division up to 12

679) 72+ 12

30 =+ 10
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Integer division up to 12

701) 27+ 3 =

110 = 10
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720) 60 = 6

700) 36 =4
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Integer division up to 12

741) 48 =6 =

50 =10
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760) 16 = 8

740) 50 = 10

19



Integer division up to 12

781) 30 =3

782) 36 = 12

790) 77 = 11

791) 48 + 12

799) 40 =+ 10

800) 24 + 4

780) 63 =9
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Integer division up to 12

821) 42 =7

801) 30+ 10

802) 88 =8

822) 81+ 9

823) 44 =+ 11

803) 24+ 8

824) 48 =8

804) 22+ 2

825) 27+ 9

805) 12+ 2

826) 88+ 11

806) 90 = 10

827) 84 +12

807) 110 + 10

828) 20 + 10

829) 96 = 8

808) 60 =5 =

809) 40 = 4

830) 144 = 12
831) 9=+3

810) 20 =4

811) 24 =3

832) 40 + 8

812) 18+ 9

833) 8+ 8=

813) 21+ 3

834) 99 = 11

814) 45+5

835) 12+ 6

815) 35 =5

836) 120 = 10

837) 66 =6

816) 110 =10

817) 99 =11

838) 72+ 12

839) 66

818) 54 =6

819) 18 =9

840) 28 + 4

820) 40 =8
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Integer division up to 12
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830) 6 = 2

860) 36 =3
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Integer division up to 12
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920) 60 = 5
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Integer division up to 12

941) 120 + 12

042) 12 =2

921) 82

022) 14+ 2

943) 100 + 10
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050) 8+ 2=

051) 21 =7

031) 20 =5

052) 18 + 9

032) 20 =+ 2

053) 15=5

933) 54+ 9

054) 14 +2 =

034) 108 =9

955) 36+ 3

935) 50 <+ 10

056) 108 = 12

057) 20 =5

036) 54+ 6 =

037) 72+6=

058) 88 =11

938) 80 + 10

959) 60 =5

039) 120 + 10
940) 56 =7

960) 88 <+ 11
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84+ 12 =

Integer division up to 12
981)

1000) 33 =3
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Integer division up to 12 (Solutions)

=4

21) 24+ 6

=9

72 +8

1)

22) 55+11=5

23) 50+10=5

24) 132 +12=11
25) 84+ 12

=7
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[ — -
= 0
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b~ o0 O
N AN AN
—
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4
6

30) 28 =7

=3

10) 15+ 5

31) 42 +7

11) 72+6=12
12) 16 =8

32) 24+4=6

= 2

33) 24 +2=12
34) 20+ 4

9
3

13) 108 = 12
14) 30 =10

5
8

35) 72+ 9

15) 4+2=2

36) 64-8=8

16) 18+2=9
17) 12+2

37) 22+2=11

=6

38) 27+3=9

18) 20+ 10 =2
19) 0+ 12

30) 40+5=8

=0

40) 33+3=11

=9

20) 99 + 11
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Integer division up to 12 (Solutions)
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Integer division up to 12 (Solutions)

101) 3+3=1

20+-2=10

81)

110) 10+5 =2

110 +11 =10
15+3=95
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111) 16 +4 =4

01)
92)

=7

112) 70 = 10

=17

35 +95
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117) 12+6=2

=9

97) 27+3

08)
99)

118) 18+ 9 =2

120 +-12 =10

119) 45+9=5

3
6

36 + 12

120) 88 +8=11

100) 30 + 5
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Integer division up to 12 (Solutions)

141) 24 +12=2

< a O o o
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148) 99 +9 =11

=7

128) 77 + 11

=6

149) 60 = 10

129) 6+3=2

150) 44 +4 =11

130) 2+2=1

151) 56 +8 =17

131) 77+ 7=11

152) 16+4=4

132) 54+6=09

=7

153) 77 =11

154) 12+ 4

133) 0+7=0

=3

134) 100 = 10 = 10

155) 0+3=0

135) 27 +9 =3
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160) 24 +2 =12
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Integer division up to 12 (Solutions)

181) 32+4=8

A48 +4 =12
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185) 12+3=4

165) 6+2 =3

186) 33+3 =11

166) 84 <7 =12
167) 96 = 12

187) 7T+7=1

=8

188) 11+1=11

168) 36 +3 =12
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Integer division up to 12 (Solutions)

=0

221) 0+ 10

201) 50+10=5

222) 50 +5 =10

202) 11+11=1
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227) 81+9=9

=6

207) 24+ 4

228) 9+3=3

208) 2+1=2

229) 56 +8 =17

209) 8+1=8

3
7

230) 36 = 12
231) 49 =7

210) 20+4=5
211) 64+ 8

=8

232) 110 +11 =10

212) 90 +9 =10
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240) 6+ 1

=6

220) 72+ 12
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Integer division up to 12 (Solutions)

=4

261) 12+ 3

=9

266) 108 + 12
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267) 40+5=8

5]
8

247) 35+ 7

268) 99 + 9 =11

248) 24+ 3
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273) 8+2=4

=3

253) 9+ 3

=5

274) 10 =2

254) 66+ 6 = 11

275) 32+8=4

255) 16 =8 = 2

276) 30 +3 =10

=9

256) 90 = 10

=95

277) 50 + 10

257) 63+9="7

278) 120 + 10 = 12

=6

258) 72+ 12

279) 56+ 7 =8

259) 6+ 3 =2

280) 18 =9 =2

260) 21+7=3
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Integer division up to 12 (Solutions)

=3

301) 36+ 12

302) 32+ 4

3
9

281) 18 =6

=8

282) 54 =6

303) 0+10=0

304) 35+7=5

305) 36 =3 =12

306) 36 =3 =12

121 +11 =11

286

=6

307) 72+ 12

287) 20 +2 =10

308) 18+ 6=3

288) 0=7=0
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313) 55+11=5

=7

203) 42+ 6

=4

314) 44 =11

=0

204) 09

7
7

315) 77+ 11

=9

205) 108 =+ 12
206) 56 = 7

316) 84 + 12

=8
0

317) 20 +2 =10

297) 0+5

8
9

318) 96 + 12

208) 36 +4=9

319) 90 + 10

299) 30+-6=25
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320) 21 +3="17

300) 72+ 6 =12



Integer division up to 12 (Solutions)
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=8

352) 40 =5

6
5

332) 42+ 7

353) 132+ 12 =11

333) 35=7

354) 96 =8 = 12

=5

334) 50 + 10

355) 99+ 9 =11

=8

335) 40 =5

356) 99+ 11 =9

336) 3-1=3

357) 55+11=5

337) 10+5=2

358) 28 =7 =4

338) 30+-6=5

359) 72+6 =12

339) 36+ 3 =12

360) 30=6=5
34

340) 30+5=6



Integer division up to 12 (Solutions)
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400) 27+ 3

=6

380) 30 =5
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Integer division up to 12 (Solutions)
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401)
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404)

425) 25+5=5

405) 808 =10

426) 18 +2=9

406) 63=7=9

427) 54+9=6

407) 8=+8=1

428) 33+3=11

=3

408) 36 = 12

=4

429) 48 = 12

409) 56 =8 =17

430) 50 +-5=10

410) 60 +6 =10

411) 6+ 2

431) 606 =10

=3

432) 8+2=4

=4

412) 20+ 5

433) 24 +-8=3

413) 110 +11 =10

434) 21+3="7

414) 22 +11=2

435) 99+11=9

415) 30=3=10

436) 63+-7=9

416) 8 +4 =2
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Integer division up to 12 (Solutions)
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470) 84+ 7 =12

450) 4+2=2

471) 4+1=4

451) 10+2=5

A72) 45+5=9

452) 20+4=5
453) 14 + 2

473) 64+8=8

7
9

A74) TT+T7=11

454) 81 =9

A75) 72+8=9
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455) 70 =10
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Integer division up to 12 (Solutions)

501) 60 +6 =10
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507) 40 +4 =10

487) 22 +2=11

508) 12+ 1 =12

24 +2=12
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512) 99+11=9

492) 99 +9 =11

493) 0= 8

513) 54 +6=9

=0

<f = ~ O
™
(a\ |
I I I I I

M~ o © o
ap)

O W o o0
©O© N Mm <f
N N VS /N /N
10 © D~ o0
— — — — —
I Yor AN Yor MRS Ven BN Wen BN Won)
3 S

b~

<t I 0
= o=
ik 0 oo T L0
(am) (@ — - LO
— (ap) — - [@N|
A~~~ T~ N~
<t LO e} D~ 0
S S S DY O
<t <t <t <t <t

=7
4

519) 70+ 10

520) 24 =6
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499) 30 = 10

500) 8 =4 =2
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Integer division up to 12 (Solutions)

541) 36 +3 =12
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547) 20 +2 =10

=9

527) 81+9

548) 20 < 2 = 10

528) 20 =4 =75

549) 33+ 3 =11

550) 30 = 6

529) 22+ 11 =2

=95

530) 32+4=8

7
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551) 42 =+ 6

531) 24+8=3

552) 25+ 5

532) 45+9=5

=6

553) 60 <+ 10

533) 44+ 4 =11

554) 21 +7=3

555) 16 = 2

534) 10-2=5
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535) 48 = 12

556) 96 = 8 = 12
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536) 70 = 10
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Integer division up to 12 (Solutions)

581) 88+ 11 =8
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Integer division up to 12 (Solutions)
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621) 18 =3
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Integer division up to 12 (Solutions)
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Integer division up to 12 (Solutions)
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Integer division up to 12 (Solutions)
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Integer division up to 12 (Solutions)
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Integer division up to 12 (Solutions)
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Integer division up to 12 (Solutions)
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40+4=10
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Integer division up to 12 (Solutions)
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Integer division up to 12 (Solutions)
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